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Computer Engineering Technology (Networking)

Class:  CET 2930C
Networking and TCP/IP Fundamentals
Room:  9-208
Lecturer:  Professor Yousif


Final Exam Practice
1. Which of the following is associated with a MAC address in a switch’s table?

a. Port number

b. IP address

c. Protocol

d. Subnet mask

2. What is a connection between two different hubs, switches, or routers called?

a. Mainline

b. Backbone

c. Leadwire

d. Link Source

3. Networks enable multiple users to share devices and data that, collectively, are referred to as the networks’______________

a. Devices

b. Resources

c. Data files

d. Peripherals

4. The peer to peer network is an example of a ________________

a. Metropolis area network

b. Wide area network

c. Local area network

d. Tiny area network

5. Peer-to-peer network require a special network operating system.

a. True

b. False

6. The method that says that before a computer starts to send a message it should first “listen” on the cable to see if any other computer is sending a message is called


a.
Token-passing


b.
Demand priority


c.
CSMA/CD


d.
Star

7. Which one of the following devices can be used to eliminate collisions?

a. Hub

b. Repeater

c.  Switch

d. Router

8. Which one of the following devices can be used to reduce broadcast storms?

a. Hub

b. Repeater

c. Switch

d. Router

9. A collision domain is defined as all the devices connected through the same port on the router

a. True

b. False

10. Broadcast domain is defined as all the devices connected through the same port on the switch

a. True

b. False

11. Which one of the following equipment functions on the physical layer of the OSI model?

a. Router

b. Bridge

c. Switch

d. Hub

12. In a routing table, the term metric refers to which one of the following:

a. Number of seconds the router needs to reach a particular destination

b. Number of switches the router needs to go through to reach a particular destination

c. Number of routers the router needs to go through to reach a particular destination

d. Number of subnets the router needs to go through to reach a particular destination

13. What type of information will an ARP command return?

a. An IP address

b. A socket address

c. An IPX address

d. A MAC address

14. Which of the following protocols does PING use to request responses from devices?

a. SNMP

b. SMTP

c. ICMP

d. RARP

15. DNS is used to perform which one of the following functions

a. Resolve IP address to MAC addresses

b. Resolve NetBIOS names to IP

c. Resolve Host names to IP

d. Resolve router names to IP

16. What provides the highest level of DNS authority?
a. Root servers 
b. Core routers
c. Zone servers

d. Backbone servers

17. The socket address 204.113.19.80:23 probably belongs to which one of the following services

e. FTP

f. HTTP

g. SNMP

h. Telnet

18. If a client’s workstation’s IP address equals 119.55.60.122 and the network administrator is using 4 bits for Subnetting, which of the following is probably the workstation subnet mask.

a. 255.0.0.0

b. 255.240.0.0

c. 255.255.255.16

d. 255.255.255.255

19. What is the maximum number of bits that can be borrowed from a class C network?

a. 6

b. 8

c. 24

d. 22

20. Given the IP address 156.1.128.200 with a subnet mask of 255.255.255.128, what is the bit mask?

a. 8

b. 24

c. 25

d. 26

21. Given the IP address 196.1.128.200 with a subnet mask of 255.255.255.252, what is the number of subnets created?

a. 16

b. 32

c. 64

d. 128

22. Given the IP address 196.1.128.200 with a subnet mask of 255.255.255.252, what is the number of hosts created per subnet?

a. 4

b. 8

c. 16

d. 32

23. Which one of the following information holds true about logical Anding:

a. 1 And 1 = 2

b. 1 And 1 = 0

c. 1 And 1 = 255

d. 1 And 1 = 1

24. Which one of the following is a routing protocol:

a. IP

b. IPX

c. RIP

d. Apple Talk

25. Packets are made up of all of the following parts except


a.
data


b.
trailer


c.
header


d.
footer

26. The MAC address is ___________ bytes long.

a. 16

b. 8
c. 6
d. 20

27. The IP address is _________bytes.
a. 20

b. 32
c. 4
d. 8
28. The minimum size of a TCP header if options field is not used is _________bytes.

a. 20

b. 40

c. 50

d. 60

29. The IP address 9.146.118.20  is a(n) _____ address.


a.
Class A


b.
Class B


c.
Class C


d.
invalid 

30. 197 converted to binary is___________
a. 11111111

b. 00001111

c. 11000011

d. 11000101

31. 00001111 converted to decimal is______________
a. 255

b. 192

c. 15

d. 17

32. Each Class C network can have _____ hosts. 


a.
2

b. 254

c. 65,536


d.
2 million

33. A class A IP address follows which one of the following formats

a. N.N.N.H
b. N.N.H.H
c. N.H.H.H
d. H.H.H.N
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a. Ping

b. Telnet

c. Arp –a

d. TCP

35. Which command produces the following output: [image: image2.png]Reply from 198.133.219.25: byte
Reply from 198.133.219.25: byte 2 time=2438ms
Reply from 198.133.219.25: byte 2 time=367ms
Reply from 198.133.219.25: bytes=32 time=397ms

2 time=401lms

Ping statistics for 198.133.219.25:

Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
[Approximate round trip times in milli-seconds:

Minimum = 248ms, Maximum = 40lms, Average = 353ms




a. Ping 198.133.219.25
b. Telnet

c. Arp –a

d. TCP

36. TCP/IP works on the principle that each computer on the network has a unique IP address.

a. True

b. flase

37. If a client’s workstation’s IP address equals 119.55.60.122 and the network administrator is using 1 octet for Subnetting, which of the following is probably the workstation subnet mask.

a. 255.0.0.0

b. 255.255.0.0

c. 255.255.255.0

d. 255.255.255.255

38. Which top-level domain would the U.S. Congressional offices use?

a. .loc

b. .com

c. .edu

d. .gov

39. Although DHCP enables users to move their machines from one location in the network to another without reconfiguring TCP/IP settings, what might a user have to do once he/she has moved to a new part of the network so as to connect to the network and use TCP/IP applications?

a. Change her primary DNS settings

b. Change her default protocol settings

c. Release and renew her IP address

d. Adjust the time on her DHCP lease

40. If you know that your boss’s TCP/IP host name is JSMITH, and you need to find out what her IP address is, what command should you type at your DOS prompt?

a. nslookup jsmith
b. Netstat jsmith
c. Tracert jsmith
d. Whois jsmith
